YEAR 10 FRANCAIS

Unité 4: "Qu’est-ce qui s’est passé?"
WRITING OUTCOME
HOME TASK

Nom :

Prof :

COMMENTAIRES :




SITUATION

Tu es journaliste pour la revue parisienne “Le Figaro” et tu écris un article sur le hold-up qui a eu

lieu hier soir, mardi, dans une bijouterie de luxe. Tu interviewes le gérant de la bijouterie et lui

pose plein de questions afin d’obtenir tous les détails nécessaires a un bon article. Tu commences

ton article par :

“Mardi soir, sur les Champs-Elysées, ...”

You are a journalist for the French newspaper “Le Figaro” in Paris and you are writing an article about the

hold-up that took place yesterday night, Tuesday, in a luxurious jewellery. You are interviewing the owner

of the place and you ask him many questions in order to gather all the details needed to write a good

article. You will begin the article with :

“Mardi soir, sur les Champs-Elysées, ...”

Requirements about your text:

1.

2.

use the “imparfait” & the “passé composé"

vary your verbs as much as you can

3. insert exact time and place ; people who were there ; withesses, etc.

4. talk about what has been robbed and the values of these things

5. write around 200 words

CRITERIA GRID

HIGH (4-5)

MEDIUM (2-3)

LOW (0-1)

ACCURACY OF
GRAMMAR &
VOCABULARY

Few / no mistakes
Correct use of the
imperfect and perfect
tenses.

Some mistakes which do
not impact
comprehension.

Errors while using the
imperfect and/or perfect
tenses.

Mistakes which hinder
comprehension.
Poor verb conjugation.

RANGE OF GRAMMAR,
VOCABULARY &
EXPRESSIONS

Inclusion of a variety of
vocabulary and
grammatical structures.
Use a good range of
expressions.

Range of sentence
structures, repetitive
sometimes.

Use of some expressions.

Repetitive sentence
structures.
Basic vocabulary.

PRESENTATION &
STRUCTURE

Includes all
reguirements, and
thorough use of
connectors as well as
some chronological
markers.

Includes 3 or 4
reguirements, Use of
some connectors and
chronological markers.

Includes 2 (or less)

reguirements, no use of
connectors and

sentences are very
difficult to understand.
The text-type is almost
unrecognisable.

TOTAL

/15




Y,

-
\ ‘

zZ







